
Infosys Model Placement Questions & Answers

Infosys Reasoning Ability Questions and Answers

Q1. In the class interval 13-23, 23 is known as ___.
A. Frequency
B. Class width
C. Upper class limit
D. Lower class limit
Answer: C

Q2. For the class interval 72-93, the class width is ______.
A. 20
B. 21
C. 93
D. 72
Answer: B

Q3 Direction: The question below consists of a question and two statements numbered I
and II given, You
have to decide whether the data provided in which of the statements are sufficient to
answer the question.
Choose your answer from the options based on this.
Z is in which direction with respect to T?
I) T is south of A & south east of B.
II) Z is east of B & A.
A. The data in statement I alone is sufficient to answer the question while the data in
statement II alone is not
sufficient to answer the question.
B. The data in statement II alone is sufficient to answer the question while the data in
statement I alone is not
sufficient to answer the question.
C. The data either in statement I alone or in statement II alone is sufficient to answer the
question.
D. The data in both statements I and II together is necessary to answer the question.
Answer: D

Q4. Direction: The question below consists of a question and two statements numbered I
and II given. You have to decide whether the data provided in which of the statements are
sufficient to answer the question.
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Choose your answer from the options based on this.
What is the code for the word ‘COLD’?.
I. The code for the word ‘ROLE’ is 18,15,12,5.
II. The code for the word ‘ART’ is 1,18,20.

A. The data in statement I alone is sufficient to answer the question while the data in
statement II alone is not
sufficient to answer the question.
B. The data in both statements I and II together is necessary to answer the question.
C. The data in statement II alone is sufficient to answer the question while the data in
statement I alone is not
sufficient to answer the question.
D. The data either in statement I alone or in statement II alone is sufficient to answer the
question.
Answer: D
Q5. The range of the data 7, 10, 6, 72, 83, 60, 12, 5 is ___.
A. 78
B. 85
C. 72
D. 83
Answer: A

Q6. In the question below, three statements are given, followed by two conclusions, I and II.
You have to
consider the statement to be true even if it seems to be at variance from commonly known
facts. You have to
decide which of the given conclusions, if any, follows from the given statements.
Statements:
All shoes are legs. Some legs are pairs.
Some pair are hands.
Conclusions:
I. Some hands are shoes.
II. Some pairs are shoes.
A. Only conclusion II follows.
B. Only conclusion I follows.
C. Both conclusion I and II follow.
D. Neither conclusion I nor II follow.
Answer: D
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Q7. Direction: The question below consists of a question and two statements numbered I
and II given. You
have to decide whether the data provided in which of the statements are sufficient to
answer the question.
Choose your answer from the options based on this.
Among persons S, T, U, V, W and B who is the tallest?
I. U is taller than only two persons. T is taller than S but not the tallest. W is taller than only
B. II. S is shorter
than only two persons. W is taller than B but shorter than U. U is shorter than S. T is shorter
than V.

A. The data in statement I alone is sufficient to answer the question while the data in
statement II alone is not
sufficient to answer the question.
B. The data in statement II alone is sufficient to answer the question while the data in
statement I alone is not
sufficient to answer the question.
C. The data either in statement I alone or in statement II alone is sufficient to answer the
question.
D. The data in both statements I and II together is necessary to answer the question.
Answer: C
Q8. In the question below, two statements are given, followed by two conclusions, I and II.
You have to
consider the statement to be true even if it seems to be at variance from commonly known
facts. You have to
decide which of the given conclusions, if any, follows from the given statements.
Statements:
Some Apples are Mangoes.
All Mangoes are Bananas.
Conclusion:
I. All Apples are Bananas.
II. Some Apples are not Bananas.
A. Only conclusion II follows.
B. Only conclusion I follows.
C. Both conclusion I and II follow.
D. Either I or II follows.
Answer: D
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Q9. Direction: The question below consists of a question and two statements numbered I
and II given, You
have to decide whether the data provided in which of the statements are sufficient to
answer the question.
Choose your answer from the options based on this.
Six friends, L, M, N, O, P and Q are sitting in a row facing north.
What is the position of Q with respect to the position of P?
I. L is sitting fourth to the right of M whose only neighbour is Q.
II. O is sitting second to the right of P.
A. The data in statement I alone is sufficient to answer the question while the data in
statement II alone is not
sufficient to answer the question.
B. The data in statement II alone is sufficient to answer the question while the data in
statement I alone is not
sufficient to answer the question.
C. The data either in statement I alone or in statement II alone is sufficient to answer the
question.
D. The data in both statements I and II together is necessary to answer the question.
Answer: D
Q10. In the question below, two statements are given, followed by two conclusions, I and II.
You have to
consider the statement to be true even if it seems to be at variance from commonly known
facts. You have to
decide which of the given conclusions, if any, follows from the given statements.
Statements:
Only a few A is B.
Only a few B is C.
Conclusion:
I. All A is B is a possibility.
II. All C is B is a possibility.
A. Only conclusion II follows.
B. Both conclusion I and II follow.
C. Only conclusion I follows.
D. Neither conclusion I nor II follow.
Answer: A
Q11. For the class interval 72-93, the class width is ___.
A. More than one
B. Zero
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C. One
D. Less than one
Answer: A
Q12. In the question below, two statements are given, followed by two conclusions, I and II.
You have to
consider the statement to be true even if it seems to be at variance from commonly known
facts. You have to
decide which of the given conclusions, if any, follows from the given statements.
Statements:
No car is green.
Some trains are green.
Conclusion:
I. No green is car.
II. Some trains are car.
A. Both conclusion I and II follow.
B. Neither conclusion I nor II follow.
C. Only conclusion I follows.
D. Only conclusion II follows.
Answer: C

Q13. Frequency of any observation can’t be ___.
A. 3
B. 2.5
C. 22
D. 5
Answer: B
Q14. In the question below, two statements are given, followed by two conclusions, I and II.
You have to
consider the statement to be true even if it seems to be at variance from commonly known
facts. You have to
decide which of the given conclusions, if any, follows from the given statements.
Statements:
Some A are B.
No B is C.
Conclusions:
I) Some B are C.
II) All A being C is a possibility.
A. Both conclusion I and II follow.
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B. Neither conclusion I nor II follow.
C. Only conclusion I follows.
D. Only conclusion II follows.
Answer: B
Q15. Direction: The question below consists of a question and two statements numbered I
and II given, You
have to decide whether the data provided in which of the statements are sufficient to
answer the question.
Choose your answer from the options based on this.
How is C related to D?
I. A is the only son of C who is the father of E.
II. E is the sister of A and mother of D.
A. The data in statement I alone is sufficient to answer the question while the data in
statement II alone is not
sufficient to answer the question.
B. The data in statement II alone is sufficient to answer the question while the data in
statement I alone is not
sufficient to answer the question.
C. The data in both statements I and II together is necessary to answer the question.
D. The data either in statement I alone or in statement II alone is sufficient to answer the
question.
Answer: C

Infosys Mathematical Ability Questions and Answers

Q1. 20 years before, the age of Rony’s father was 12 times of Rony’s age. At present, his
age is 2 times of
Rony’s age. Find the present age of Rony.
A. 20 years
B. 24 years
C. 26 years
D. 22 years
Answer: D
Q2. Select the pair that is related on the same basis to the pair given in the question.
FIZU : HABI :: ?
A. MEVO : OOXA
B. CATI : EYRU
C. HEPO : FORI
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D. LICA : NAEO
Answer: D
Q3. Which two signs should be interchanged to make the below equation mathematically
correct?
4 + 8 ÷ 16 x 13 - 7 = 8
A. - and +
B. x and ÷
C. + and x
D. ÷ and -
Answer: C
Q4. If signs ‘+’ and ‘-’ and numbers 7 and 6 are used interchangeably, then which of the
following equation
would be correct?
A. 7 x 2 + 6 - 5 = 8
B. 5 + 7 x 2 -6 = 0
C. 7 -6 + 3 x 5 = 30
D. 6 x 7 + 5 -8 =20
Answer: B
Q5. If ‘+’ means ‘x’, ‘÷’ means ‘+’, ‘-’ means ‘÷’ and ‘x’ means ‘-’. Which of the following will
be the value of the
expression 32 ÷ 8 - 4 x 12 + 4 = ?
A. 12
B. 1/12
C. 40
D. -14
Answer: D
Q6. If ‘+’ means ‘-’, ‘-’ means ‘÷’, ÷ ‘’ means ‘x’, and ‘x’ means ‘+’. Which of the following will
be the value of
the expression?
245 - 35 ÷ 3 + 14 x 36
A. 58
B. 45
C. 37
D. 43
Answer: D
Q7. In a class, Ram’s rank from top is 12 and Ramesh’s rank from bottom is 27. If they
interchange their
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positions, Ram’s rank becomes 18th from the top. How many students are there in the
class?
A. 42
B. 43
C. 45
D. 44
Answer: D
Q8. Consider the number 57645361, if the digit at unit place is decreased by 1, the digit at
tens ‘place is
increased by 2, the digit at hundreds’ place is decreased by 1, the digit at thousands’ place
is increased by 2
and so on, then after rearranging how many number appears twice?
A. 2
B. 3
C. 4
D. 1
Answer: A
Q9. In a certain code language, ‘FAN’ is written as “21”, then how will “COME” be written in
that code
language?
A. 35
B. 34
C. 36
D. 37
Answer: C
Q10. If ‘A’ means ‘subtraction’, ‘B’ means ‘division’, ‘C’ means ‘multiplication’, and ‘D’ means
‘addition’, then
what will be the value of the following expression?
18 A 15 B 75 C 90 D 23
A. 18
B. 15
C. 23
D. 33
Answer: C

Infosys Verbal Ability Questions and Answers

https://www.freshersnow.com/


Infosys Model Placement Questions & Answers

Q1. Fill in the blank with the most appropriate choice Those unfamiliar with the saga are
bound to be
mystified by the more _____ plot twists.
A. arcane
B. aesthetic
C. arbitrary
D. anoint
Answer: A
Q2. Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes
the sentence meaningfully. Select the option ‘no’ correction ‘required’ if the sentence is
correct as given.
The government appears (to be at war with it’s own people.)
A. No correction required.
B. to be at war against it’s own people.
C. to be at war with its own people.
D. to be on war with it’s own people.
Answer: C
Q3. The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If
the sentence has no error, select the option ‘No Error’. This vacuum not only holds products
in place, it also
compacts the package size, reducing the amount of space they take up in cartons.
A. the amount of space they take up in cartons.
B. also compacts the package size, reducing
C. This vacuum not only holds products in place, it.
D. No Error
Answer: C
Q4. Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes
the sentence meaningfully. Select the option ‘no’ correction ‘required’ if the sentence is
correct as given. (This
bridge neither crossed the Thames, and neither gave) access to a now lost island in the
river.
A. This bridge either crossed the Thames, and nor gave
B. This bridge neither crossed the Thames, and nor gives
C. No correction required
D. This bridge either crossed the Thames, or gave

https://www.freshersnow.com/


Infosys Model Placement Questions & Answers

Answer: D
Q5. In the question one statement is given, followed by two course of actions, I and II. You
have to consider
the statement to be true even if it seems to be at variance from commonly known facts. You
have to decide
which of the given course of actions, if any, follows from the given statement. Statement:
Students at times
are not able to pass home exams marginally. Course of action: I. Borderline cases should
be allowed to take a
re-test. II. Minimum Passing marks for home exams should be revised and brought down to
a lower level.
A. Neither I nor II follow.
B. Either I or II follows.
C. Only II follows.
D. Only I follows.
Answer: D
Q6. Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes
the sentence meaningfully. Select the option ‘no’ correction ‘required’ if the sentence is
correct as given. (The
transit of the Planet of Love happen in pairs), eight years apart every century.
A. The transits of the Planet of Love happens at pairs
B. The transit of the Planet of Love happen in pairs
C. The tranists of the Planet of Love happen in pairs
D. No correction required
Answer: A
Q7. The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If
the sentence has no error, select the option ‘No Error’. Hong Kong has been endowed with
one of the finest
natural harbour in the world.
A. No Error
B. harbour in the world.
C. with one of the finest natural
D. Hong Kong has been endowed
Answer: B
Q8. Fill in the blank with the most appropriate choice.
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Foetal _______ screening uses ultrasound scanning to find certain abnormalities in the
baby.
A. enfevering
B. anomaly
C. abeyance
D. snuggle
Answer: B
Q9. The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If
the sentence has no error, select the option ‘No Error’.
An independent enquiry headed by Anthony White QC in 2011 further examined the claims
but also
exonerated Coucher.
A. An independent enquiry headed by
B. No Error
C. Anthony White QC in 2011 further examined
D. the claims but also exonerated Coucher.
Answer: C
Q10. Fill in the blank with the most appropriate choice.
I often feel I am an _______, that I would be more at home at the turn of the century than
today.
A. avarice
B. apathy
C. anachronism
D. analogous
Answer: C
Q11. In the question one statement is given, followed by two inferences, I and II. You have
to consider the
statement to be true even if it seems to be at variance from commonly known facts. You
have to decide which
of the given interferences, if any, follows from the given statement.
Statement:
No one could deny Wheatley’s remarkable achievement in being the first African American
of either gender to
publish a book in colonial America, a time and place where slaves’ very humanity was
questioned.
Inference:
I. Wheatly was the First African American lady to be educated.
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II. Wheatly was an African American slave.
A. Only I follows.
B. Only II follows.
C. Either I or II follows.
D. Neither I nor II follow.
Answer: D
Q12. Select the word segment that substitutes (replaces) the bracketed word segment
correctly and
completes the sentence meaningfully. Select the option ‘no correction required’ if the
sentence is correct as
given.
Jane was asked by her (aunt, “Where were you last night”.)
A. aunt that, “Where were you last night?”
B. No correction required
C. aunt, “Where had you been you last night.”
D. aunt, “Where were you last night?”
Answer: D
Q13. Fill in the blank with the most appropriate choice.
Obesity is also a progressive condition, unlike anorexia nervosa, which tends to ______with
age.
A. inebriate
B. ameliorate
C. negate
D. struggle
Answer: B
Q14. The sentence below has been divided into three parts. Select the part of the sentence
that has an error.
If the sentence has no error, select the option ‘No Error’.
A cascade of events must occur for a neurotransmitter stimuli to lead to cellular response.
A. No Error
B. lead to cellular response.
C. for a neurotransmitter stimuli to
D. A cascade of events must occur
Answer: C
Q15. In this question, a statement has been given, followed by two assumption numbered I
and II. Analyse the
two assumptions together and determine which of them follows.
Statement:
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The use of breath analysis to check if the drivers are drunk has been stopped by the traffic
police to prevent
the spread of the Coronavirus to the traffic police.
Assumptions:
I. Corona virus can be passed on to traffic police only by drunken people.
II. The traffic police do not want to be infected with the Coronavirus.
A. Either assumption I or assumption II is implicit.
B. Only assumption II is implicit.
C. Neither assumption I nor assumption II is simplict.
D. Only assumption I is implicit.
Answer: B
A passage is given with 5 questions following it. Read the passage carefully and choose the
best answer to
each question out of the four alternatives
Although there is a great deal of variation within each gender, on the average, men and
women discuss a
surprisingly different range of topics. According to some studies, women and men ranging in
age from
seventeen to eighty described the range of topics each discussed with friends of the same
sex. Certain topics
were common to both men and women; work, movies, and television proved to be frequent
topics for both
groups. The differences between men and women were more striking than the similarities.
Female friends
spent much more time discussing personal and domestic subjects, relationship problems,
family, health and
reproductive matters, weight, food and clothing. Men, on the other hand, were more likely to
discuss music,
current events, sports and business. Women were more likely to gossip about close friends
and family. By
contrast, men spent more time gossiping about sports figures and media personalities.
These differences can
lead to frustration when men and women try to converse with one another.
Q16. According to the passage, which of the following option is incorrect? Choose one
option.
A. Topics like work, movies and television are both common topics between men and
women.
B. Women like to gossip while men do not.
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C. Men are more inclined towards topics, like current affairs, sports and business.
D. Men and women discuss a surprisingly different range of topics.
Answer: B
Q17. According to the passage, after what age does the range of topics, that each gender
finds interesting,
starts to differ?
A. 17
B. 22
C. 43
D. 50
Answer: A
Q18. According to the passage which of the following is not a topic discussed by females
often?
A. Matters related to health and family
B. Personal and domestic subjects
C. Topics which include food, clothing and weight.
D. Current affairs
Answer: D
Q19. According to passage, why do men and women find it frustrating to converse?
A. Because men and women inherently have nothing in common.
B. Because women like to gossip while men like to discuss.
C. Because both the genders are polar opposites of each other.
D. Because of dissimilar tastes in topics they like to have a conversation in.
Answer: D
Q20. It was almost impossible for him to put out of his mind the _________ words which he
heard from his
clever father-in-law.
A. inspiring
B. witty
C. sarcastic
D. soothing
E. exhortative
Answer: B

Infosys Pseudocode Questions and Answers

Q1. What will happen when following pseudocode is executed?
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A. Code executes successfully and value of salary is displayed once.
B. Code executes successfully and nothing is displayed.
C. Code executes successfully and value of salary is displayed infinite number of times.
D. Compile time error.
Answer: C

Q2. What will happen when following program is executed?

A. Code will run infinite number of times.
B. The program will not enter the loop.
C. Code will execute and value of res will be displayed twice.
D. Code will execute and value of res will be displayed once.
Answer: A
Q3. How many times will ‘#’ be displayed?

A. 15
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B. 1
C. 2
D. 8
Answer: A

Q4. What will be the output of the following pseudocode?

A. 0
B. 3
C. 1
D. 2
Answer: A
Q5. What will be the output of the following pseudocode?

A. SevenTwoHello
B. OneHello
C. SevenTwo
D. Seven
Answer: A
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